
39th WCSC Tournament, Ostróda, 04-05.08.2015

85 solvers 

(Nr of problem – author – stipulation - average points - #solver 5 pt - #solver 0,5-4,5 pt - #solver 
wrong sol - #solver no sol.) 

1 – Markovtsy - #2 – 3,82 – 65 – 0 – 16 – 4

wrong keys: 1.Db5? (7x)  

2 – Subotic - #2 – 3,35– 57 – 0 – 27 – 1 

wrong keys: 1. Dc3? (13x) 1. Df5?  (5x) 1. Dg3? (3x) 

3 – Sambuu - #2 – 3,88 – 66 – 0 - 15 – 4

wrong keys: 1. Da7? (6x)  1. c7? (4x) 1. Db6? (3x) 

4 – Zipf - #3 – 4,22 – 69 – 5 – 10 – 1 

wrong keys: 1.Kc7? (4x)  1. Ka6? (2x)

missing or wrong var (solvers with 3 – 4,5 pts) Lg6 (3x) f5 (3x)  

5 – Avner/Seider - #3 – 1,11 – 8 – 17 – 46 – 14 

wrong keys: 1. Tcc5? (15x) 1. Tc3? (6x) 1. Tec5? (5x) 1.Le8? (4x) 1. Le3? (3x) 

missing or wrong var: c6 (10x) c5 (9x) 

6 – Fokin/Ivanovn - #3 – 2,54 – 30 – 18 – 32 – 5 

wrong keys:  1. Lb3? (25x) 1. Da3? (3x) 

missing or wrong var.: e6 (10x) d3 (7x) 

7 – Minski – eg – 1,25 – 20 – 2 – 60 – 3

wrong moves: 1. Ta8? (28x) 1. Lf3? (13x) 1. b6? (6x) 1. Ta3? (5x) 1.dc3? (3x) 

8 – Hlinka/Husak – eg – 1,99 – 12 – 63 – 7 – 3 

wrong moves: 1.Kd7? (6x) 1…Sc4? (4x) 3. Se3? (6x) 7. Le5? (7x) 7. Sc4? (7x)  

9 – Gurvich – eg – 1,60 – 15 – 44 – 26 – 0

wrong moves: 1. Sb6? (25x) 1… Tc7? (4x) 2. Tg4? (14x) 2. Ld2? (7x) 2. Lh6? (4x) 2. Lc1? (2x) 

5. Tg8? (4x) 

10 – Heinonen – h#2 – 4,66 – 69 – 15 – 0 – 1 

3 sol: 11x 2 sol: 2x  1 sol: 2x     total sol with exf4: 82  with Sg4: 81 with Sh5: 79 with Teg3: 73   

Tg3(?) 4x    

11 – Jones – h#3 – 2,54 – 31 – 28 – 2 – 23 

a) 5x  b) 10x  c) 2x a+b) 6x  a+c) 2x  b+c (3x) total sol a) 44 b) 53 c) 38  Sg4(?) 6x   



12 – Neef – h#6 – 0,44 – 0 – 15 – 2 – 68 

only Lb4 (10x) only Sh3 (5x)  

13 – Petrasinovic - #4 – 2,31 – 30 – 16 – 22 – 17 

wrong keys: 1. Lf7? (6x) 1. Lf5? (4x) 1.Kc3? (3x) 

missing var. Ld6 (6x) Ke5 (5x) thr. (5x) 

14 – Postnikov - #5 – 1,82 – 27 - 8 – 33– 17

wrong keys: 1.a4? (14x) 1.Sf6? (4x) 1. Se7? (3x) 1. Le7? (2x) 

missing var: b5 (7x) 

15 – Krätschmer - #6 – 1,61 – 25 – 3 – 42 – 15

wrong keys: 1. Kg3? (8x)  missing var. c5 (3x)

16 – Richter – s#2 – 4,36 – 47 – 36 – 2  -0 

missing or wrong var.: Tf8 (23x) S~ (6x) Sd6 (2x) Sg4 (2x) Se4 (1x)  

17 – Dunn – s#3 – 1,84 – 9 – 35 – 30 – 11 

wrong keys: 1. Lb7? (6x)  1. Ta8? (3x) 1. Tf8? (3x) 1. Th5? (3x) 

missing var: -Dd5 (12x) Sf2 (10x) Se5 (2x)  

18 – Lossin – s#5 – 0,07 – 0 – 2 – 23 – 60 

wrong keys: 1. c7? (14x) 1. Da3? (2x) 1. Te5? (2x) 

missing var.: h6 (2x)

       


